Arc Length- Worksheet

Find the length of the curve on the given interval.

1. f(x) =232 on [0,4]. 6. z(t) = a(t), y(t) =9 on [—1,1].

2. f(x) =mx+8on[0,1]. 7. r=1+cos6 on [0,7/3].

8. r=sinf on [0, 7/2].

9. r=460on [0,7/2].
4. x(t) = 4sin(2t), y(t) = 4cos(2t) on

0, 7/2].
10. If the arc length of y = f(x) on [a,b] is
L find the arc length of y = £ f(ax) on
5. x(t) = e*sint, y(t) = e* cost on [0, 1]. [2,2].

(©2012 Shmoop University, Inc. All rights reserved. For classroom use only. Want to print this out for your
classroom? Go for it. All other reproduction and distribution is prohibited.

http://www.shmoop.com/calculus/
Shmoop will make you a better lover (of literature, math, life...)



